[N of simulated tracks vs dxy(PV) ] N of associated tracks (simToReco) vs dxy(PV) |

(%] n —_— —r . - -
F & T T T
© F
510 3
2 £
S s 2
c 10 S
" g
10°
10 - :
L 1T
o l-w i iim . . i H o
S A ‘ \”H: e 3
(AR AR e e A 4
LAl HHHHHIWHHUH L
I (e (e i oo oo
L AR NI .
09%95-20-15-10 -5 10 15 20 25 0 E=36-15-10 =5 0 5 10 15 20 25
Tde PV) (cm TP dxy(PV) (cm
y Yy
—"— DQM_mkFit_TT_retrain
[N of sim] —— DQM_mkFit_TTold
8 &
© =
B 4 3
10 <
2 E
3 2
< 3
F 10 ¢
10°
10 e s
O +voiim I | I o
: ‘HHHHEWHH”!H\ [ '”‘H H”HH HW H\H\HHE\HWHI :
o : ! Hi Il ! ox
I R
Al sHHWHs HH\HsHUHWH sHmW 1L S N :
20 608 1 “21-0.8-0.6-04-0.2 0 0.2 0.4 0.6 0.8 1
TP dxy(PV) (cm) TP dxy(PV) (cm)
[N of simulated tracks vs dz(PV) ] [ Nof associated tracks (simToReco) vs dz(PV) ]
[} [
Q< - o
° : : : : : F
=Ry I T Ll 5
g 10 : : : : : g10
g : : 2
T I U SUU U S g
= : : § 10
i Tt LTIt PEE PP PERDE SLPP
I
'
10 --------}f--,l,—fﬁf":"ﬂ{ﬁ"ﬁ'f‘{ """
-4 Loa L
o ww) i 0w
© : T
@ 1 u @
0% -20 -10 0 10 20 30 0% =20 -0 0 10 20 30
TP dz(PV) (cm) TP dz(PV) (cm)
[N of simulated tracks vs dz(PV) ] [N of associated tracks (simToReco) vs dz(PV) |
[} F 2
° q
e} =
E
2 !
x [%]
Q c
I S
= g
8 k=]
© T
24 [hq

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


